easytvet.com

1704102 g
MATHEMATICS T AND i H_.-_;;“_l_;u.u af E:Hl"-:r 1'..
PHYSICAL SCIENCE .'t_-_ﬁL LIRR AT = H*f L
Oct/Nov. 2017 { ;'i 5 -1= |
Time: 3 hours AN 22DECIXT )'
k“*“:h.__h LNEg =

o
B

THE KENYA NATIONAL EXAMINATIONS COUNCIL
CRAFT CERTIFICATE IN BUILDING TECHNOLOGY

MODULE 1

MATHEMATICS T AND PHYSICAL SCIENCE

3 hours

INSTRUCTIONS TO CANDIDATES

You should have the fellowing for this examination:
Answer booklet; ;
Mathematical table/Scientific calculator;
Drrawing inyfrumenis.
This paper consists of EIGHT questions in TWO sections; A and B,
Answer FIVE questions choosing at least TRO guestions from section A and B and
ONE guestion from either section.
All guestions carry equal marks.
Macirmum marks for each part of a question are as shown.
Candidates should answer the questions in English.

This paper consists of 6 printed pages.

Candidates should check the question paper to ascertain that all
the pages are printed as indicated and that no questions are missing.
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Caleulate the area of a plot which i trisngular in shape and whose sides are 58 m, 52 m
and 28 m. (4 marks)

The base of a roof shown in the figure 1 below is a rectungle ABCD. The equal faces
ADCG and BCF each makes an angle of 45° with the base. The equal faces ABFG
and CDGF each makes an angle of 507 with the base.
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SECTION B: PHYSICAL SCIENCE

Answer af least TWO questions from this section.
Explain the difference between a vector and a scalar quantity giving one example in
each case, (4 marks)
State four properties of a base. {4 marks)

Using a well balanced chemical equation. Explain two methods of salt preparation.
(6 marks)

With the sid of a sketch explain the structure of an atom, hence explain the terms:

(i) stomic mass;
(i) mass number.

{f marks)
Define the terms:
{i} moment of a force;
(i) couple;
(i)  resultant force.

{4 marks)

State two conditions for equilibrium. (4 marks)
State two factors affecting stability. {2 marks)

A uniform metre rube is freely pivoted at the 30 cm mark and balances horizontally
when a mass 80 g is hung from the 2 cm mark. Draw a diagram of the metre showing
all the forees acting on the meter rule. Calculate the mass of the metre rule.

(10 marks)
Define the terms:
(1) work;
(i)  power,
(i)  energy.
(3 marks)
State the law of conservation of encrgy. (2 marks)
{iy  Differentiate between potential energy and kinetic energy. (4 marks)
(iiy  State four forms of energy. {4 marks)
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(d)  Define the terms: !
(i) Stress,
(i)  strain;
(iii)  modulus of elasticity,
(7 marks)
8. (3)  Define the terms:
(1)  pressure;
(iii)  relative density.
(3 marks)

(b Flg!:u 3 shows a block with mass 2.5 kg which rest on a ramp. If the coefficient of
static friction between the block and the ramp is 0,350, what is the maximum angle the

ramp makes with the horizontal before the block starts to slip down. {6 marks)
2 5kg
B
Fig. 3
(e} With aid of a sketch explain how Archimedes principle can be proved. (5 marks)
(d}  State three advantages and three disadvantages of friction, (6 marks)
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